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ol SYEAESBHEY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O ==ea=20 &l 01S2120] BAts
250,000 64 1,500
O Btds= ZE dAlll SAtE
375,000& 4 1,500
O LK=OF Z& ROEAAL AR
360,000 x2H *43] 2,800
dasgel aoees X 70,000 0 70,000
= 21,000
Al 49,000
402 212t X+=01 & 70,000 0 70,000
= 21,000
Al 49,000
02 2IIHE AN 2 X (01T ) 70,000 0 70,000
O "usgol Tadleas g
100,000, 000& *141%70/100 70,000
== 21,000
Al 49,000
sENAE L 490,009 560,816 A70,807
= 3,000
== 29,550
Al 457,459
AOIH XI9=sEE2HH 29 26,110 34,910 28,800
201 =3 21,110 18,610 2,500
01 At2t2lt] 16,880 14,380 2,500
0 get+=EH| 6,380
O =gol 2221018 us d&X| As
ARt 690,000 *2CH 1,380
O d=2s=s8o |4 Ws Wi M
20,0002 x25E %102 5,000
0 s&II=8H EHOIX X244
875,000 122 10,500
2 s5=34l 4,230 4,230 0
O 2323 % Al 4,230
O Rz 4303 x56521x102] 2,430
O usEs FFH =4l
30,0002 *30CH =23 1,800
206 M=l 2,000 5,800 23,800
01 MZH| 2,000 5,800 /3,800
O dTaiel & AEstsYe s Ha?
e 2,000,000 *14] 2,000
308 AXIHSO0IA 3,000 3,000
18 SIS0t HAS A 3,000 3,000
O dXaAch 2estts SER0| 82
1,500,0002 *23] 3,000
SENTI2 JEolxet 44,800 26,800 18,000




ENE=N,
ENECZE 83
ENa=Y o =g)
K- BE - E9I(EH) - HRAR - BaS A HIDEZ
201 €=y 40,800 22,800 18,000
01 A2l 14,400 0 14,400
0 Let+=EH| 14,400
O EHOX X442 XS
1,200,000 122 14,400
02 s3=gHl 26,400 22,800 3,600
0 3322 26,400
O elg4 600,000& * 122 7,200
O dgs
100,000& * 12 1,200
O s8l= EHO0IX SeRE o182
1,500,000& 128 18,000
405 KHaHH = 4,000 4,000
01 AL 4,000 4,000
EESIGnE
2,000,000 =2CH 4,000
NS=—=SRSINE~ 132,090 132,090 0
201 LBtz 14,350 10,350 4,000
01 At 2 10,350 10,350 0
0 get+=Ey 9,750
O &Xtet =el
3,500 %508 x 102 1,750
O Mt S0 M
100,000& %102 1,000
O =st38
10,0002 *700% 7,000
0 Xz 600
O HXret A8t Xerext
600,000 «1CH 600
03 A=Y 4,000 0 4,000
0 d2als A X1
4,000,000 *14] 4,000
202 048l 3,060 3,060
01 2K 3,060 3,060
O sd= o 29g 0l
20,0003 *x38+51 3,060
301 EtE NS 14,680 18,680 24,000
11 dALEEIXIE S 14,680 18,680 24,000
O dXHa el n=s A2
60,0002 x40 *13] 2,400
O MXa A w S SAMS
8,000 %408 x 103 3,200
O MXtaofel w 2
227,000 2 202 9,080
307 glztol & 100,000 100,000
02 2t 100,000 100,000




FA sEXNED
M SENEZE sPIFUAUG}
el sEXNEEE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O dXtaeh sat=2 2220 A2 At
5,000 *20, 0002450/ 100 50,000
O ZHEE SHEEE ZE AL
100,000, 0002 *141x50/100 50,000
J2at=sHlBHINE s 15,000 15,000 0
== 4,500
Al 10,500
201 2= 4,000 4,000 0
[ 1,200
Al 2,800
01 At22t2lt] 4,000 4,000 0
O W= wi M= 20,0002 x25H +83] 4,000
= 1,200
Al 2,800
301 EtE NS 11,000 11,000 0
= 3,300
Al 7,700
11 #AIAHIXIE S 11,000 11,000 0
O OBE s ZAME 500,000% 222 11,000
== 3,300
Al 7,700
STUELS JlsEs 133,009 165,116 A32,107
101 @124H| 32,859 31,966 893
M ORINZZE2NSE S 32,859 31,966 893
O sEdgistat 2] 2FY 29,503
O Jlzs 78,8803 x 1 *262 20,667
O =5+ 78,8803 18 x52 4,102
O exi+=g 78,8803 18 x15& 1,184
O AlRZ2Z2+E
14,703 +20A1 2t 123 3,550
O 402 3,3%
O H3=28= FE=
29,503,000& +3.6/100 1,063
O LeFNeALE= FE=
1,063,000& *12.81/100 137
O =H=2Es RE=
29,503, 000& *4.5/100 1,328
O 18=28xs FE=
29,503,000& +1.8/100 532
O M2 E RY=
29,503,000& +1/100 2%
201 er2 3| 25,470 27,470 22,000
01 AtR2telHl 9,470 27,470 18,000
O get+=SH 8,770
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M S=ENECZ2 sHEHH2AUS!
=t sEANEE S EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O =ZH8za =& A4 1%
9,000& 30213l 270
O sEMEgZzd U= Wil M
20,0003 * 102 +53] 1,000
O SZ0i4 22 DS DX M=
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O =Z=xMg 22=s% 248 s Mz 72
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301 LPENS 13,620 13,620
11 AU S 13,620 13,620
O s&E0d g92id us 4% =4 HS
8,000 & x40 H 53] 1,600
O sE0Y S92 I 2Ag
400,000 +83| 3,200
[ =ZxMg 22 288 s 2
500,000& * 153 7,500
O sEMEE208 sdus F4X adl
A& 60,0003 x22H 1,320
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O M3 283 XA
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01 ML =SEFSHI 3,000 5,000 A2,000
[ sEMe s I 7
3,000,000 14 3,000
SENY gite| & d2AEHSE LS 8,000 10,000 A2,000
T 2,400
Al 5,600
206 =4l 3,000 3,200 A200
& 900
Al 2,100
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01 MHZH| 3,000 3,200 A200
O S&0i8 AN2ABE W2XAHS DS
HE 10,0002 %30 %102 3,000
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Al 2,100
301 22N = 5,000 6,800 1,800
== 1,500
Al 3,500
11 HAIMHIXI R 3 5,000 6,800 21,800
O =2g=< 5,000
O sE04 €I E d2NAFHS u=s
AL ¢ 242,000& 202 4,840
= 1,452
Al 3,388
O sE0E 2lelEE d2NEFS us
A 24 M3 8,000 »202 %12 160
< 48
Al 12
HEIHLS MEEE8 K 25,500 24,900 600
= 7,650
Al 17,850
307 el2tol & 25,500 24,900 600
= 7,650
Al 17,850
02 QA AAEE X 25,500 24,900 600
O MEjdsla A2 922 X
60,0003 #4255 25,500
== 7,650
Al 17,850
d=e SEIHE |4 ZIZHE MY 10,000 5,000 5,000
= 3,000
Al 7,000
307 212t01™ 10,000 5,000 5,000
= 3,000
Al 7,000
04 CIZFHAAIS E & 10,000 5,000 5,000
0 #sst sZE1E |4 ZZ2XE A8
10,000,000 * 14! 10,000
== 3,000
Al 7,000
He sEdEZ N 21,000 21,000 0
307 212t01™ 21,000 21,000
02 2IZHBHAIHE £ 21,000 21,000
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2N SEXNSH
M SENEZE sPIFUAUG}
el sEAREE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 2,000 0 2,000
O get+=EH| 2,000
O =80l AN A2dst WS WAiK
X 10,0002 x50 *42] 2,000
= 1,000
Al 1,000
206 M=H| 1,000 0 1,000
= 500
Al 500
IEET 1,000 0 1,000
O solol OHEAd A2s ] ME 7
1,000,000 %14 1,000
= 500
Al 500
301 EetE NS 3,000 0 3,000
= 1,500
Al 1,500
11 AALEIXIES 3,000 0 3,000
0 sl gtNAd Aefdsl F Az
500,000& *62 3,000
= 1,500
Al 1,500
sEUSsY |54 35,000 0 35,000
= 10,500
Al 24,500
402 2I2F X201 & 35,000 0 35,000
s 10,500
Al 24,500
02 I ESASEZ(0IETHR) 35,000 0 35,000
O sgEussd 88
50,000, 000& *141+70/100 35,000
& 10,500
Al 24,500
SIOH SUAE 2dst 2,542,760 1,534,486 1,008,274
= 798,000
< 384,600
Al 1,360, 160
S Ws & =3=cl 78,280 84,000 Ab,720
201 er23| 1,300 1,300 0
01 At2teltl 1,300 1,300 0
0 get+=EH| 1,300
O sSIAHWE WM M
1,0002 +1,000% 1,000
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=EXTH

B RIS SoEMAAS
Sl SIIH UMY 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O =)1ns &40 M=
100,000 #32] 300
202 04dl 31,980 31,980
01 2L AL 6,300 6,300
O sJ1AH #IXI0 ol
140,0003 3 x13] 420
0 012 28l 42l & 52t NS
20,0003 38 98! 5,880
02 A0 25,680 25,680 0
O sIHEn N8 BHAY| 25,680
O SIASUXNE (ST, M2, =82, SF)
230,000 «8H 122 22,080
O sIALUXE(Z2)
300,000& x1H~12& 3,600
206 M=l 45,000 50,000 25,000
01 MZH| 45,000 50,000 /5,000
O sIA =212l 257 45,000
O 7 B8 10,0002 x255+ 10074 25,000
O 24 28 5,000 *405+100H 20,000
sYIIHNSEH XA 22,000 14,000 8,000
< 6,600
Al 15,400
405 AHaHE = 22,000 14,000 8,000
= 6,600
Al 15,400
01 MMM ESFSHI 22,000 14,000 8,000
O s2IARSEASHIXZ (dS0LHY
xt) 22,000,000 = 1CH 22,000
= 6,600
Al 15,400
8 SIIHSUAME L 29 810,136 1,010,486 200,350
201 2= 190,136 170,486 19,650
01 AtR2t2lt] 47,325 37,325 10,000
0 get+=EH] 25,485
O SIASUAEL EE2= ME
2,000&*1,000 2,000
O sSIASUAMEAL B2 &2 HH
100,000 %52 500
O UM A SZoHa| 6,915
EIRSPN 70,000 58} A%6IH A 2,100
HFAES 10,0003 x10S5+69H A& 600
HEEE 70,0002 *5 8 AxG0H A 2,100
MADISE 1,270 * 12004 *6IH 2 915
SHl=, M=bl= S
8,000 x6H#53| *6IH A 1,200
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=EXTH

I =ENCR =AM
SRl SO A 243t (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SIEOIUE SR (KLH 42 =0
&) 300,000, 000& 2. 5% 7,500
O t&EAID =& ME
8,570,000 * 14| 8,570
0 2l 7,680
O zexzex 2z
8,000 x8H 120 7,680
[ SRY2Z2L 2R=s 7Y 4,160
O 1m=tl 80,0003 *8H 2 +23] 2,560
O ot& 3Gt 100,000 x8H x2&} 1,600
O sJIH 88 EHO0IK RAE
10,000,000 & 14 10,000
02 S=294| 142,811 133, 161 9,650
O 3322 % JA 79,811
O 2t sJ1H B85
135,000 *560CH 75,600
O 2iixte 286z 800, 000& +2CH 1,600
O UsIHAl 2 ZAtZ 1,811
- SEX 640
- NS XA 120,000 & *4CH 480
- NSt BA=E 40,0002 *4CH 160
- SEX 171
- KtS XA 150, 0002  1CH 150
- NSt BAZ 21,000 *1CH 21
- ot=xt 1,000
- NS XA 100,000 *5CH 500
- Nsx EAME 100,000 *5CH 500
O Xt=sxt 2R3
40,0002 *10CH*23| 800
[ Xt&F - ey 21,000
O g2x(RFU, MUK, 22F4]) 21,000
SEXt 2,000,000 *4CH 8,000
Sext 2,000,000 *1CH 2,000
st=xt 2,200,000 *5CH 11,000
O AM&E&EIS AL 42,000
O JIAHZEEl sX2eld]
1,000,000 & *6JH 2 6,000
O SIIHLYUAIE A ®I| & =EAI-
500,000 =241 x60H 2~ 6,000
O SIHLUAIE A HE 2 & &=
5,000,000 *6IH 2~ 30,000
206 =6l 200,000 200,000
01 =l 200,000 200,000
O SJIH UM E 2248 235 724
50,0003 *100CH*40= 200,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 100,000 180,000 280,000
01 Al&H| 100,000 180,000 80,000
O sOIHSHAIE A == A2 ZH|
25,000,000 #40H 2 100,000
405 AtatsE = 320,000 450,000 130,000
01 L ESFISHI 320,000 450,000 130,000
O SosI1AH 7L 320,000
O s8=4I 30,000, 0002 =4CH 120,000
O &E=Hel 5,000,000 +5CH 25,000
O &OHAIIIHH D] 10,000,000 * 10CH 100,000
O EH&R)| 15,000, 0002 =5CH 75,000
sSIAHEEARDEXIA(ER) 12,000 12,000 0
= 6,000
= 1,800
Al 4,200
201 er2 3| 4,000 4,000 0
= 2,000
= 600
Al 1,400
01 At2teltl 4,000 4,000 0
O sJH &8s Wil
10,0002 #4002 4,000
= 2,000
= 600
Al 1,400
206 M=l 6,000 6,000 0
= 3,000
= 900
Al 2,100
01 MZH| 6,000 6,000 0
O =217 9EDE W2 2
6,000,000 *14] 6,000
= 3,000
S 900
Al 2,100
301 EtE N = 2,000 2,000 0
= 1,000
= 300
Al 700
11 dAMEEIXIZE S 2,000 2,000 0
O sJ1H e ns HAK 24 M3
8,0002x250H 2,000
= 1,000
== 300
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Fo g2 At sIIANA 1,300,000 400,000 900,000
= 650,000
= 325,000
Al 325,000
201 er2 3| 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
01 At2teltl 2,500 0 2,500
0 get+=EH| 2,500
O ZmIIAS s WM M
10,0002 502 +23] 1,000
= 500
= 250
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O I Hst 2= M
1,000& *1,500% 1,500
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= 375
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02 s3=gHl 7,500 0 7,500
O 2oHet 288 300,000 »25CH 7,500
= 3,750
= 1,875
Al 1,875
401 AIEHIZ SR 0HYI 340,000 0 340,000
= 170,000
= 85,000
Al 85,000
01 AlZH| 340,000 0 340,000
O oAt JIEHAIE K&
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= 170,000
= 85,000
Al 85,000
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O QTSI 7Y
30,000,000& *25CH 750,000
= 375,000
== 187,500
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SIHSU 25 MEIA 10,000 10,000
201 er23y| 9,000 9,000
01 AtR2t2|HI 5,000 5,000
0 et 5,000
O 258 MilA 2= M
1,000 *4,000% 4,000
O 25 MHlA 22 S=2 N
100,000 %53 500
O 2 A2 Zg 292 g
100,000 5% 500
02 s3=gHl 4,000 4,000
O xt&k - et 4,000
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O 22X JuI=Abl
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18 SISt HAS A 1,000 1,000
O sJ1H 25AM81A E2H|
500,000 <22 1,000
LsRo=E Al X 106,344 106,344
= 42,000
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= 21,635
Al 33,796
MU IIRINZZE2NSES 55,431 55,431
O SsFi= 08X FY 49,775
(ORPE=== 78,8803 x4 *110& 34,708
= 13,883
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= 3,195
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A SEXNEL
M S=ENECZ2 sHEHH2AUS!
Eelr SIIH LAY Edst (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 2,400
Al 3,600
206 =4l 34,833 0 34,833
= 13,933
Al 20,900
01 =l 34,833 0 34,833
O DTS W2 7
34,833,0003 *14] 34,833
= 13,933
Al 20,900
CESIIH AKX 200,000 0 200,000
= 100,000
& 50,000
Al 50,000
405 RHaHE=H| 200,000 0 200,000
= 100,000
& 50,000
Al 50,000
01 XML =EF S| 200,000 0 200,000
O SF=I1H wXHI(TM01)
20,000,000 *10CH 200,000
= 100,000
& 50,000
Al 50,000
EHEZE=MA SAHIIHE BHECIHY 22 4,000 0 4,000
= 1,200
Al 2,800
206 M= 4l 4,000 0 4,000
= 1,200
Al 2,800
01 =Yl 4,000 0 4,000
[ B =dA 20| tiEel HH E=
80,000 #5004 &~ 4,000
& 1,200
Al 2,800
HY2IZH(SEXE) 862,219 852,913 9,306
olE2A| 815,519 801,933 13,586
olE AU (sEX ) 815,519 801,933 13,586
101 2124 d| 749,422 737,035 12,387
01 8= 135,335 133,067 2,268
O =22y 135,335
O AeIRRag
12,5313 x18F *50A| 2t+ 122 135,335
02 JIEtX B4 32,330 31,789 541
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Mz HHSHAY|(s=X )
oel: el 2dH| (St &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
O A2 224S(LDIH)
12,5312 x5 *x43A| 2H+ 128 32,330
03 BRE(RI|H) 2284 581,757 572,179 9,578
[ sJ|AH =2l o1l 581,757
O Jl=2 2,309,970 x8H x 128 221,758
O 23
2,309,970&+0.02x 12 x 122 6,653
O a2 2,661,360 x8H x4 & 85,164
O 324 2,661, 360& *0.5+x8H *x23| 21,291
O 9ZE 50| 2,661, 360& *0.5x8H x23| 21,291
O HHZAH| 140,000 +x8H 128 13,440
O e 50,0002 x8H x 12& 4,800
O WE8=xH| 110,000 +8 = 128 10,560
O =5 15,0003 *BA| 2H+8H x52 49,920
O AlRtel2say
15,000& *1.5%20A| 2H+8H » 128 43,200
O fY+y
15,0002 x1.5+8A| 218 x5! 74,880
O o2z
15,0002 x2+5A| 28 * 12& 14,400
O X 15,0003 *8A| 2H+8H x 15 14,400
4 HSEE2S 66,097 64,898 1,199
M Z2LE(RIHH 22X BE28EH=2 = 66,097 64,898 1,199
[0 22222 X 282842 66,097
O Zexasx easea
581,757,000 %4.50/100 26,180
O 222N AL Py
581,757,000 %3.6/100 20,944
O 222N HQUPH P
20,944,000 %12.81/100 2,683
O 2222 182 22
581,757,0002¢%1.8/100 10,472
O P22 MW2H 222
581,757,000&%1/100 5,818
Jl2&t| 46,700 50,980 A4,280
J2ddl(sE=XE1) 46,700 50,980 A4,280
201 LBt AH| 41,300 45,580 A4,280
01 AFR22t2lHl 32,480 35,980 A3,500
[ Bt==H| 14,080
O sAMEX 7Y
30,000 58t A 128 1,800
O 2tz =23 g0l 15,0002 x3Z 20 900
O #HIANREE 2L
20,0002 x155+73] 2,100
O ®)| 2z =2
15,0003 25+ 128 360




2H: SENCY
B3 BHSALH|(SEXNCD)
el Dl (ot

M- B SRAEA) - HRAR - B2 of v A 2
SEEEEEEE
20,0002 x3%x 122 720
O 9% 21N S 512 HF K¢
10,0002 * 1002 1,000
O dEMRIDI 22 7 7,200
WA B 2 &4 200,000& =22 400
SAD EWH 2 EF
200,000 +5CH*23 2,000
HRIE EH 2 S
200,000 x120H =23 4,800
O S 18,400
O 52 & Y2z
8,00021x232* 1002 18,400
2 ZZ2H| 8,820 9,600 AT80
02222 2 MAl 2,820
O 52 XE 92 L2 2ua
4303 +500F+ 123 2,580
O NSIHA & A= 160
SEX 160
- NSIHAl 120,000 +1CH 120
- NSt HAlz 40,0002 1CH 40
O NSit B FE=
40,0002 *1CH*23 80
O A2 &BIs sl 2,000
O EHARIIl RAl2cl]
200,000 = 10CH 2,000
O xt&k - et 4,000
SENCW ARAE (RFU, FHIRA
b, 2A28Hl) 4,000
- S8 4,000,000 *1CH 4,000
203 =4l 4,200 4,200
M FAZSHIFII 4,200 4,200
O sEXNEH 350,000& * 122 4,200
204 APt AH 1,200 1,200
01 MG HI A 1,200 1,200
O sEXNEHE 100,000& «12& 1,200




